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F: Wie repräsentiere ich einen Graphen?

1 2

34

5

1
2
3
4
5

1 3
2 4
3 1

3 4
5
5

42 5
4
3
2
1

1 2 3 4 5

0 0 1 1 0

0 1 0 1 0
1 0 1 0 0
0 1 0 1 1
1 0 1 0 1

Adjazenzlisten Adjazenzmatrix

1 2

34

5

ungerichteter
Graph

Wir sagen: Knoten 3 und 5 sind adjazent.



8

F: Wie repräsentiere ich einen Graphen?

1 2

34

5

1
2
3
4
5

1 3
2 4
3 1

3 4
5
5

42 5
4
3
2
1

1 2 3 4 5

0 0 1 1 0

0 1 0 1 0
1 0 1 0 0
0 1 0 1 1
1 0 1 0 1

Adjazenzlisten Adjazenzmatrix

1 2

34

5

ungerichteter
Graph

Wir sagen: Knoten 3 und 5 sind adjazent.



8
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